

Integration by Partial fraction

18

8.4

20, 29, 33

12, 14, 17, 25, 30, 34, 42, 47

$$(12) \int \frac{2x+1}{x^2-7x+12} dx = \int \frac{2x+1}{(x-4)(x-3)} dx$$

$$= \int \left(\frac{A}{x-4} + \frac{B}{x-3} \right) dx$$

Different linear factors

Cover Method

$$A = \frac{2(4)+1}{(4)-3} = 9$$

$$B = \frac{2(3)+1}{(3)-4} = -7$$

$$= \int \frac{9}{x-4} dx + \int \frac{-7}{x-3} dx$$

$$= 9 \ln|x-4| - 7 \ln|x-3| + C$$

$$= \ln|x-4|^9 - \ln|x-3|^7 + C$$

$$= \ln \left| \frac{(x-4)^9}{(x-3)^7} \right| + C$$

18 $\int_{-1}^0 \frac{x^3}{x^2-2x+1} dx$

درجه ايسه $\leq$ درجه المقام
 $\downarrow$
 قسمة طول
 Long Division

$\int_{-1}^0 \left(x+2 + \frac{3x-2}{x^2-2x+1} \right) dx$

Long Division:

$$\begin{array}{r} x+2 \\ x^2-2x+1 \overline{) x^3 } \\ \underline{-(x^3+2x^2+x)} \\ 2x^2-3x+2 \\ \underline{-(2x^2+4x+2)} \\ -7x \\ \underline{-(-7x+7)} \\ -10 \end{array}$$

$\int_{-1}^0 (x+2) dx + \int_{-1}^0 \frac{3x-2}{(x-1)^2} dx$

$\left(\frac{x^2}{2} + 2x \right) \Big|_{-1}^0 + \int_{-1}^0 \left(\frac{A}{x-1} + \frac{B}{(x-1)^2} \right) dx$

$(0+0) - \left(\frac{1}{2} - 2 \right)$

$0 - \left(\frac{1}{2} - 2 \right)$

$\left(\frac{3}{2} \right)$

Partial Fraction Decomposition:

$$\frac{3x-2}{(x-1)^2} = \frac{A}{x-1} + \frac{B}{(x-1)^2}$$

$$3x-2 = \frac{A(x-1) + B}{(x-1)^2}$$

$$3x-2 = \frac{Ax - A + B}{(x-1)^2}$$

$3x-2 = A(x-1) + B = Ax - A + B$

$A=3, -2 = -A + B$
 $-2 = -3 + B$
 $1 = B$

Alternative Partial Fraction Decomposition:

$$\int \frac{3x-2}{(2x^2-1)^2} dx = \int \frac{Ax+B}{2x^2-1} + \frac{Cx+D}{(2x^2-1)^2} dx$$

$$\boxed{1 = \sqrt{3}}$$

$$\frac{3}{2} + \int_{-1}^0 \frac{3}{x-1} dx + \int_{-1}^0 \frac{1}{(x-1)^2} dx$$

$$\frac{3}{2} + 3 \ln|x-1| \Big|_{-1}^0 + \int_{-2}^{-1} \frac{du}{u^2}$$

$u = x-1$
 $du = dx$
 $x = -1 \Rightarrow u = -2$
 $x = 0 \Rightarrow u = -1$

$$\frac{3}{2} + (3 \ln 1 - 3 \ln 2) + \left(\frac{-1}{u} \Big|_{-2}^{-1} \right)$$

$$\frac{-1}{-1} - \left(\frac{-1}{-2} \right)$$

$$1 - \frac{1}{2}$$

$$\frac{1}{2}$$

$$\left(\frac{3}{2} + \frac{1}{2} \right) + 0 - 3 \ln 2$$

$$\underline{\underline{2 - 3 \ln 2}}$$

$$(42) \int \frac{\sin \theta d\theta}{\cos^2 \theta + \cos \theta - 2}$$

$$u = \cos \theta$$

$$du = -\sin \theta d\theta$$

$$- \int \frac{du}{u^2 + u - 2} = - \int \frac{du}{(u+2)(u-1)}$$

$$u^2 + u - 2$$

$$A = -\frac{1}{\sqrt{-2}+1} = \frac{1}{3}$$

$$B = -\frac{1}{\sqrt{-2}-1} = -\frac{1}{3}$$

$$= - \int \left(\frac{A}{u+2} + \frac{B}{u-1} \right) du$$

$$= - \left[\int \frac{\frac{1}{3}}{u+2} du + \int \frac{-\frac{1}{3}}{u-1} du \right]$$

$$= -\frac{1}{3} \ln|u+2| + \frac{1}{3} \ln|u-1| + C$$

$$= -\frac{1}{3} \ln|\cos\theta + 2| + \frac{1}{3} \ln|\cos\theta - 1| + C$$

$$= \frac{1}{3} \left[\ln|\cos\theta - 1| - \ln|\cos\theta + 2| \right] + C$$

$$= \frac{1}{3} \ln \left| \frac{\cos\theta - 1}{\cos\theta + 2} \right| + C$$